(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

Y6 ESG=HO0 UIN

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

—&—— 9ZZ'8L¥E=H00 [BMOY ¥00 - 101d 130

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

Ev6YES=HDa UIN

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

—S—— 9ZZ'8l¥E=400 [V 00 -10Id 13a

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

Cr6 ¥EG=d20 UIN

SOUBLLLOLISH WOpUEY
L 1y

10000
-1 1000

- oo

=

—&—— 922’ 8LrE=y0a [emay €00 - 0ld 130

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

er6¥EG=400 Ul

SOUBLLIOLISH Wopuey
L [ L

L0

=

—S—— 9ZZ'8L¥E=400 [eM2V L00 - 101d 130

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

88.°201=400 N

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

—&—— ZrBvES=400 [EMIY 800 -101d 134

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

Ev6YES=HDa UIN

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

—S—— 9Z¢'8L¥e=40a [BM2Y 900 - 101d 130

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

Cr6 ¥EG=d20 UIN

SOUBLLLOLISH WOpUEY
L 1y

10000
-1 1000

- oo

=

—&—— 9ZZ'8LrE=y0a [emay L00 - 10ld 130

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

er6¥EG=400 Ul

SOUBLLIOLISH Wopuey
L [ L

L0

=

—S—— 9ZZ'8L¥E=400 [eM2V 500 - 101d 130

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

88.°201=400 N

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

—&—— EreveS=400 [IEMOY 210 -101d 134

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

88/°701=400 UIN

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

—S—— Z¥6¥ES=10a [eMdY 0L0 -101d 13d

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

88/ °201=420 UIN

SOUBLLLOLISH WOpUEY
L 1y

10000
-1 1000

- oo

=

—&—— ZrB¥eS=420 [EMaY LLO -10id 13a

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

88/°/01=400 Ul

SOUBLLIOLISH Wopuey
L [ L

L0

=

—E—— Z¥6'¥ES=400 [eM2Y 600 - 101d 130

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

vl L01=d00 UIN

—&—— 0/€¢821=400 [eEMaY 910 -10Id 130

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

88/°701=400 UIN

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

—S—— ZP6¥ES=10a [eMoY ¥10 -10id 13d

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

YL L01=400 UIN

—&—— 0/€¢821=400 [enoY§L0 - J0id 130

SOUBLLLOLISH WOpUEY
L 1y

10000
-1 1000

- oo

=

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

88/°/01=400 Ul

SOUBLLIOLISH Wopuey
L [ L

L0

=

—E—— Zr6'¥eS=40a [enaY €10 -101d 130

[

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

00k oL L L0 100 L0000 L0000 S0-81
— — . . : L0000
.................................. 1000
.................................. Lo
........... 00
L0
20
S0
L
¢
............................................... g
L
Z
““““““““““““““““““““““““ g
........................ oL
................................... oz
or
09
08
: e (1S S -1 08
L yyLll0V=4OoQunN t— 0 - g
—O—— 0L£Z8Z1=420 [emav 0zZ0 -10ld 130
- ————— @0UBLLOMSd WOPUBY - 86
P S TS (RS TR IR S SR R P nn
(InoH/sjueaAg ul) v4y
0oL oL L L0 LO0 L000 L0000 S0-81
— — —— —— — — T . L0000
.................................. 1000
““““““““““““““““““““““““ Lo
700
L0
€0
=
b
4
e
L
................................................ z
G
“““““““““““““““““““““““““ oF
........... 0z
................. o
09
08
i ' 06
L ¥rL°101=400 UIN o8
—S—— 0.L€Z82L=400 [em2v 810 -10ld 134
- —————— 8JUeulOLIad Wopuey 86
PR TR S SN T ST SR (ST ST S B S S 1 PR oo

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

ol b L0 100 1000

10000

FP2201=400 W

—&— 0.£2821=400 BMOYELO - 10Id 130
soUeULIoLISd WOopUEY

L L Ly L Ly

L Ly [
(anoH/s|usAT ul) vau
oL b L0 100

®  p270L=400 U
—6— 0L£8zL=x00 EMaY L0 - 10Id 130
—— BJueULIOlIBd WopUEY

L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

00k oL L L0 100 L0000 L0000 S0-81
— — . . : L0000
.................................. 1000
.................................. Lo
........... 00
L0
20
S0
L
¢
............................................... g
L
Z
““““““““““““““““““““““““ g
........................ oL
................................... oz
or
09
08
: e e S SR -1 08
L glggr/i=4oaunw = - g
—O—— el /bP§=400 [EMVY 20 -10Id L
= S0UBULIOLIB WOPUBY [ i - 86
ey il P nn
(InoH/sjueaAg ul) v4y
0oL oL L L0 LO0 L000 L0000 S0-81
— — —T —T — T — T . L0000
.................................. 1000
““““““““““““““““““““““““ Lo
700
L0
€0
=
b
4
e
L
................................................ z
G
“““““““““““““““““““““““““ oF
........... 0z
................. o
09
........... 08
; R R 06
L [ ] 81687 /=420 WIN o
—S— LEL'LbPS=¥400 ey ZzZ0 -10ld L
- —————— 8JUeulOLIad Wopuey 86
PR S T SR S S VR ST S R oo

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

ol b L0 100 1000 10000 S0-9L

\m‘

'815'8p/=400 W
JEL 1¥¥S=400 IBMDY §20 - 10Id 1
soUeULIoLISd WOopUEY

Ly L Ly

L Ly I
(anoH/s|usAT ul) vau

oL b L0 100 1000 L0000 G0-8l

[ ]
—

$P17101=400 UIN
01£Z8ZL=400 [EMY LZ0 - 101d 130
aoueuLIol s Wopuey

L [ L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

BLG8r /=400 U

—&—— IEL/PrS§=H00 [emoY 820 -10Id 13

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

- 08
- 06
- 96
- 86

L L
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

8168 /=400 UIN

—S—— L€V ¥PS=H00 [endY 920 -10Id 13

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

8158r /=420 UIN

10000
-1 1000

- oo

=

—©—— JE1°1¥PS=400 [emoY /20 - 10id 13
SOUBLLLOLISH WOpUEY
L 1y

L Ly I
(anoH/sIUBAT ul) vy
L0 100

1000

000

816°8¥ /=400 Ul

—&—— [EL1PPS=400 [emoY SZ0 -10ld 13
SOUBLLIOLISH Wopuey
L [ L

L0

=

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

0€L 179=d00 N

8OUBLLIOLISH WOopU
1y L 1 L

10000
- 1000

aY

—&—— 865°292/=400 [emaY Zg£0 -10Id 130

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

0€L71#9=400 U

SOUBULIOLISH WOopU
L [—

10000
- 000

- 100

—S—— 8657Z92/=400 [enay 0€0 -10d 13a

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

0€L'179=d20 uIN

8OUBULIOLB WopU

10000
-1 1000

- oo

=

—&—— 865292/=400 [emay LEOD - J0ld 130

L Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

0€L°1¥9=400 Ul

SoUeULIOLB WopU
L [

L0

=

—E—— 8657792/=400 [em2ay 620 -101d 130

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

£L0€°658=400 N

—&—— 19%'908¥=400 [eMOY 9¢

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

- 08
- 06
- 96
- 86

L [
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

0€L71#9=400 U

SOUBULIOLISH WOopU
L [—

10000
- 000

- 100

—S—— 8657Z92/=400 [enavy €0 -10d 13a

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

0€L'179=d20 uIN

8OUBULIOLB WopU

10000
-1 1000

- oo

=

—&—— 865292/=400 [emay SE0 - J0ld 130

L Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

0€L°1¥9=400 Ul

SoUeULIOLB WopU
L [

L0

=

—E—— 865'292/=400 [en2V £€0 - 101d 134

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

£L0€°658=400 N

—&—— 19¥'908y=400 [ermoY OF

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

- 08
- 06
- 96
- 86

L [
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

£0€°658=400 UIN

—S—— 19¥'908¥=400 [eM2Y §¢|

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

L0€°G58=420 UIN

—&—— 19¥'908¥=420 [BMIY BE|

SOUBLLLOLISH WOpUEY
L 1y

10000
-1 1000

- oo

=

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

10€'658=400 Ul

—S—— 19¥'9087=400 [eroV /€|

SOUBLLIOLISH Wopuey
L [ L

L0

=

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

88.°201=400 N

—&—— B0'28ZL=+00 [emdY 150 - 10id 130

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

£0€°658=400 UIN

—S—— 19¥'908p=¥00 BNV Z¥

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

88/ °201=420 UIN

—&—— 80¥'282L=¥00 [eM2Y 050 -101d 13a

SOUBLLLOLISH WOpUEY
L 1y

10000
-1 1000

- oo

=

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

10€'658=400 Ul

—S—— 19¥'908F=400 BNV ¥

SOUBLLIOLISH Wopuey
L [ L

L0

=

[

(% u1) ssIAd

(% U1} ssIiNd



(InoH/sjuaAg ul) y4y

00k oL L L0 100 L0000 L0000 S0-81
— — . . : L0000
.................................. 1000
.................................. Lo
........... 00
L0
20
S0
L
¢
............................................... g
L
Z
““““““““““““““““““““““““ g
........................ oL
................................... oz
or
09
08
: L I S S -1 08
L 8gllol=4oaunn TR - g
—O—— 80¥'¢821=420 [emoy 550 - 10id 130
- ————— @DUBLLOMSd WOPUBY i - 86
P S TS (RS TR IR S SR R P nn
(InoH/sjueaAg ul) v4y
0oL oL L L0 LO0 L000 L0000 S0-81
— — —— —— — — T . L0000
.................................. 1000
““““““““““““““““““““““““ Lo
700
L0
€0
=
b
4
e
L
................................................ z
G
“““““““““““““““““““““““““ oF
........... 0z
................. o
09
08
i ' 06
L [ ] 88/°701=420 WiN o
—S—— 80¥'2821=400 [emay €50 - 10id 130
- —————— 8JUeulOLIad Wopuey 86
PR T SN S SR VENT ST S SR SR i oo

(% u1) sSAd

(3 ur) ssiid

(unoH/sjusAg ul) y4y

L0 100

1000

10000

'88£°201=400 W

—C— 80v'Z8ZL=400 IBMDY $50 - 101d 130
soUeULIoLISd WOopUEY

L L Ly L Ly

L0 100

L Ly [
(anoH/s|usAT ul) vau

®  88/70L=400 U
—&— 80v'Z8ZL=400 [EMOY Z50 - 101d 13a
—— BJueULIOlIBd WopUEY

L [ L

S0-9L

10000
1000

100’
00

Ll O
‘S50

oW NTVeY

-

£8 8 8 2 R

00

— L0 O
‘@9

%3 8‘G_U7N"U’.N

88 8

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

88.°201=400 N

—&—— gESerge=40a0 [emaY 990 -

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

88/°701=400 UIN

—S—— ZE5erge=40a [enoYy #90 -

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

88/ °201=420 UIN

—&—— ZESEreZ=400 [enoy 590 -

SOUBLLLOLISH WOpUEY
L 1y

10000
-1 1000

- oo

=

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

88/°/01=400 Ul

—S—— 80F'¢8ZL=400 [eM2V 950 - 10|d 130

SOUBLLIOLISH Wopuey
L [ L

L0

=

[

(% u1) ssIAd

(% U1} ssIiNd



(uncH/sjusAl ul) v4u
10 100

1000

10000

§0-8l

88.°201=400 N

—&—— gESerZe=+0a [emdY 0.0 -

SOUBLLLIOLISH WIOpUEY
1y L 1 L

10000
- 1000

aY

- 08
- 06
- 96
- 86

L I
(noH/sjuaAg u) Y4
10 100

1000

10000

fala]

S0-8l

88/°701=400 UIN

—5—— Z€5erge=40a [enoYy 8o -

SOUBULIOLISH WopUEY
L [— L

10000
- 000

- 100

433

(op U1) SSIAK

(g Ul) SSIAL

(anoH/sjusng ul) vy
Lo 100

1000

10

000

§0-91

88/ °201=420 UIN

—&—— ZESEreZ=400 [enoY 90 -

SOUBLLLOLISH WOpUEY
L 1y

10000
-1 1000

- oo

=

Ly [
(anoH/sIUBAT ul) vy
L0 100

1000

000

88/°/01=400 Ul

—E—— ZES'erEe=¥0a [emay 190 -

SOUBLLIOLISH Wopuey
L [ L

L0

=

[

(% u1) ssIAd

(% U1} ssIiNd



